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Writing E,quations of Lines

Write the slope-intercept form of the equation of the

l) through: (-1, 4), slope : -2

Date

line through the given point

2) thror,rgh: (-5, ll, slope:

Period

with

z

t

the given slope.

3) through: 12, -3), slope

5) through: (3, -4), slope : -3

7) through: \2,2), slope : -3

9) through: (-:, 01, slope

Write the slope-intercept lbrm of the equation

I 1 ) throngh: \-a, a) and 12, -2)

4) through: \:4, -a), slope : -2

6) through: (5. -4), slope

8) thror"rgh: \-4, -4). slope : 0

l0) through \-a, -a), slope : -2

:-l
1,

I
I

-5

__l
3

of the line through

l2) through:

the given points.

(s, -t)and (--s, -:)

l3) through: (-2. -t) anO (-S, O)

l5) through: (-S, --S) ana (t. O)

I 7) through: (-:, :) ana (-S, +)

l9) through: (0,  )and (-3, -5)

l4) through: (--s, Z)anA (-2, O)

l6) throLrgh: (a, 5) and \4,2)

l8) through: (0, :) and (-S, -4)

20) througn: (0, +)anO (-2, -t)
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